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«CrioxeHue u BblYUTaHue
CMellLaHHbIX Yucesn»

YpOK noarotoBuia
Yuutenb MaTeEMaTUKH
bywyeBa H.U.



YcTHas pabota

NMpountante apob6bM:
_|_

| 7 12i 81
100 12 18 75

N 1232
10 200

o



+

Bbluuciure:

S D

17 17 17

B 7\ 4

12/ 12

7 s
o3 23

5 (:3 Bl
16 \16 16,







[lpeacraBbTe B BUAge
HenpaBWJIbHOU Apob6u:
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lNpeacraebte ApPpO6HYIO YacTb B BUAae
HenpaBWJ1bHOU Apo6u, 3abpaB eanHULY U3
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[IpeacraBbTe YNC/IO B
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TeMa ypoka:

«CnoxxeHve m
BblUMTaHue
CMeLUaHHbIX Yymcen.»















«5 »-6e3 owmnbok

«4 »-1 owwnbka

«3 »- 2 owunbku




